Question
Given that

Find without expansion

50 4 7
(i) |70 2 2

60 3 1

15 20 —56
(ii) [ 21 10 —16

18 15 -8

53 % 219/
(iii) | 72% 1 6y?
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Answer
5 4 7

7 2 2|=63

6 3 1
We will use that multiplication of 1 row/column by k scales the determinant
value by k.

(1)
50 4 7 10x5 4 7
W 2 2| = 10x7 2 2
60 3 1 10x6 3 1
5 4 7
= 10|17 2 2
6 3 1
= 10 x 63
= 630
(ii)
15 20 —56 3x5h Hx4 —8x2
21 10 =16 | = |3x6 5x3 —8x1
18 15 -8 3x6 Hx3 —8x1

5 bx4 —-8x7
= 3x |7 b5x2 —8x2
6 bx3 —8x1

5 4 —8x7
= 3xXHx|T 2 —8x2
6 3 —8x1
5 4 7
= 3Xbx-8x|7 2 2
6 3 1

3xX5Hx—-8x63

—7560
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